Homework 8

Solution
18.13 Part B
Q1l: SELECT FNAME, LNAME, ADDRESS
FROM EMPLOYEE, DEPARTMENT
WHERE DNAME = ‘Research’ AND DNUMBER = DNO

Initial tree:

M FNAME, LNAME, ADDRESS

O DNAME="Research’ AND DNUMBER = DNO

X

I

DEPARTMENT

Optimized tree:

M FNAME, LNAME, ADDRESS

| <] onumBER = DNO
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M FNAME, LNAME, ADDRESS, DNO

1 DNUMBER

O DNAME='Research’

DEPARTMENT

Q8: SELECT E.FNAME, ELNAME, SFNAME, SLNAME
FROM EMPLOYEEASE, EMPLOYEEASS




WHERE  E.SUPERSSN = S.SSN

Initia tree

M E.FNAME, ELNAME, SFNAME, SLNAME

0 E.SUPPERSSN = S.SSN

X
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Optimized tree:

M E.FNAME, ELNAME, SFNAME, SLNAME

| X| 0 E.suPPERSSN = S.SSN

N

M SFNAME, SLNAME

I E.ANAME, ELNAME
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Q1B: SELECT E.FNAME, ENAME, E.ADDRESS
FROM EMPLOYEE E, DEPARTMENT D
WHERE  D.NAME='Research’ AND D.DNUMBER=E.DNUMBER

Initial tree:



1 E.FNAME, E.LNAME, EADDRESS

0 D.DNAME='Research’ AND D.DNUMBER=E.DNUMBER

|
PN

pE po
Comor >
Optimized tree:

M E.FNAME, E.LNAME, EADDRESS

| ><| 0.oNUMBER=E DNUMBER
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M1 D.DNUMBER E.FNAME, E.LNAME, E.ADDRESS,

E.DNUMBER
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Q4. (SELECT DISTINCT PNUMBER
FROM PROJECT, DEPARTMENT, EMPLOY EE

WHERE  DNUM=DNUMBERAND MGRSSN=SSN AND

LNAME="Smith’)
UNION
(SELECT DISTINCT PNUMBER
FROM PROJECT, WORKS_ON, EMPLOYEE



WHERE  PNUMBER=PNO AND ESSN=SSN AND LNAME="Smith")

Initial tree:
U
M PNUMBER M PNUMBER
0 DNUM=DNUMBERAND MGRSSN=SSN AND 0 PNUMBER=PNO AND ESSN=SSN AND
LNAM E=’ Smith’ LNAME='Smith’
X X

Optimized tree:



Q27.

M DNUMBER

| X ] MGRssN=sSN

M SsN
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M PNUMBER M PNUMBER
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M PNUMBER, DNUM

| X] PNUMBER=PNO
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M PNUMBER
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SELECT PNUMBER, PNAME, COUNT(*)

FROM PROJECT, WORKS_ON, EMPLOYEE

WHERE  PNUMBER=PNO AND SSN=ESSN AND DNO=5
GROUPBY PNUMBER, PNAME

Initia tree:



PNUMBER, PNAME 0 COUNT(*)

M PNUMBER, PNAME

0 PNUMBER=PNO AND SSN=ESSN AND DNO=5

Optimized tree:

NUMBER, PNAME O COUNT(*)

M PNUMBER, PNAME

| <] PnUMBER=PNO

M PNUMBER, PNAME



